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The median is estimated using the 50th percentile. As 50% of 69 is 34.5, we start with
the cumulative frequency of 34.5 and find the corresponding time.

The median is approximately 2 hours 34.5 min.

There are approximately 37 competitors who took less than 2 h 35 min to complete the
race.

There are 69 — 52 = 17 competitors who took more than 2 hours 39 min.

So é—g ~ 26.4% took more than 2 hours 39 min.

The time taken is estimated using the 20th percentile. As 20% of 69 is 13.8, we find the
time corresponding to a cumulative frequency of approximately 14.
The top 20% of competitors took less than 2 hours 31 minutes.




